MATH 234 WORKSHEET 1 & SeEpT 2016, TA: Jiuva WANG

Problem 1 : Simplification
Simplify or compute the following expressions:

1 —3 1 -3
1.2(i)—2(11>; 21-1 1 ;12 =11
N 3 2 3 2
! 3t t+1
2 () r2(00)
1 t t
ARt GRS
¢ 2 t
1 1
cosf ]| cosd
sin @ sin &
/ 1 ¢
. |cos@ | x | tcost
sin # tsind

reinfsinw
6. rsinfcosw
rcosf

w
S

e

4
o | 7
St +2
2
2t + 2.
T
Y
3. ; b
—t+ 2T %
3,2, 2
"j:t -+ e
=i
4. 2
> = J}f:};ﬂf& +r W

2 X R > 2 2 . LR R > S xr 2
_ Jfrl.s}nﬁsinw* Frsinlrosw + r s B—J FsinB-(Sinw+ s w) + ¥ o8O



Problem 2
Page 16, Problem 2: Determine whether the expressions are legal or not, and if legal, determine
the expression is a vector or a number:
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Problem 3: more simplification Page 17 Problem 13, 15
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